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�ה ??? �� ��� �� � �� � �� �� � �� �� � �� �� ��� �� ��

 � ??? � � �� �� �� � � �� � �� � �1­8

�ה ???��� � � � �� �� � � � � � � �

1.:� ?� �� �

v0 = 64.8
km
h

= 18
m
s

v t = 0
m
s

t = 6 s

a = ?

:�??? �

a =
v
 t

=
v t−v0
t−0

=
0−18
6−0

=−3
m
s2

2.:� ???� �

v0 = 0
m
s

v = 216
km
h

= 60
m
s

a = 4
m

s2

 x=?

:�?� � �

v2 = v 0
2
2 ax− x0 = v0

2
2a x

 � ? �� � �� � x:

 x =
v2−v0

2

2 a

:� ???� � � �h ???�� � �

 x =
602−02

2⋅4
= 450m
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�ה ?� � ????? ?� ?�� � ���� � �

3.:� ?� �? ?

v0 = 72
km
h

= 20
m
s

v = 0
m
s

 x = 20m

a = ?

:�?� � �

v2 = v 0
2
2 a x

 � ? �� � �� �a:

a =
v 2−v0

2

2 x

:� ???� � � �� � � � �� � �

a =
202−02

2⋅20
= 10

m
s2

4.:� ?� �� �

v0 = 54
km
h

= 15
m
s

a = 2
m

s2

t = 5 s

�?.א ?� � � �� � � � �� � � � � �� �� �� � ��� �

v = v0a t = 152⋅5= 25
m
s

�???�ה � �� � � � � ��� �� � � � � ��� � �� � �� � �� � �� �� ���� � � � � � � �� �� � � �� � � �� � �� � �� � � � � � � � ����� � 

:� ?� �� �� �� �� � �� � � � � � � �� � ��� �� �� �

v = 25⋅3.6≈ 53.6
km
h

�??? ?� .ב � �� � � � � �� � ???�? � � �� ? �� �? �� �?� ��?�� � ?��� ??t=0s­�x0=0mת� ?� ?� � � 

 � ? � ?�� � �� ��5:� ?�?� �

x = x0v0⋅t
1
2
a⋅t 2 = 015⋅5

1
2
⋅2⋅52 = 100m

.�? ???� �� �� � � � � �� ???� ?�� �� ?�� �? � � �? � � � ?� �� ?�� �??� � � ¨ � i   ???� � �
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�ה ????� lob mySrat S�
� � �

5. � ????�l obmySra t S� 
 � ��) ?? � ?30m / s­� ????� l obmySrat S�
 � �� ) ??  � ???� � ???�ת��3 ?� 

­� ????� lobmy Sr at S� 
 �� �) ??  � ???� � �� � � �� � ���� � �� � � �� �??? �י3??? ????� lobmy Sr atS� 
 � 

­� ????�l obmy Sr at S� 
� � �) ?? �???� �� � � � �� � � � �� � � � � � � �� ???????6.�? ???� l obmy Srat S�

:� ???? �

v0 = 30
m
s

 x 0s 3s = 2⋅ x 3s6s 

a = ?

:�????

­� ????� l obmySra t S�
 � � � ) ??2:� ????�l

1
2
⋅ x 0s 3s =  x 3s6s 

­� ????� l6:� ???? �l ob mySra tS� 
 � �

 x 0s 6s =  x 0s 3s x 3s 6s

:� ????�lobmySr atS� 
� �� )

 x 0s 6s =  x 0s3s 
1
2
⋅ x 0s 3s

:� ??????

 x 0s 6s =
3
2
⋅ x 0s 3s

 � ????� lob mySrat S� 
� � � )?? x0 = 0m:� ?? ??� lo bmySr at S�

x 6s  =
3
2
⋅x 3s 

:� ???? � l ob my SratS� 
 �

x= x0v0⋅t
1
2
a⋅t2

:� ????� lobmySr atS� 
� � �) ? ?  � ??? � � � �

x 3s  = 030⋅3
1
2
⋅a⋅32= 904.5a

x 6s  = 030⋅6
1
2
⋅a⋅62 = 18018a

:� ????� lobmySr at S�
� � � )??  � ???� � � � ��� � �� � �� �� �

18018a =
3
2
904.5a
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�ה ????� lob mySrat S�
� � �

:� ????� l obmySr atS� 
� � � ) ??  � ???�� �� ��� � � �� � � � �� � �� � �?? ?????

a=−4
m

s2

6.

��???� .א �

v A0 = 0
m
s

a A= ?

v B0= 0
m
s

aB = 2⋅a A

 � ?� `  � ??? �� �� �� �A:�? �`  � ? ?? �� � � �� � �

x At  = x A0v A0⋅t
1
2
aA⋅t

2

:� ? � `   �? ??� � �� � ��� �� �� � � �� � �� �� ?

 x At  = x At− xA0 =
1
2
aA⋅t

2

 � ?� `  � ??? �� �� �� �B:�? �`  � ? ?? �� � � �� � �

x Bt  = x B0vB0⋅t
1
2
aB⋅t

2

:� ? � `  � ???� ��� �� �� � � �� � � � �� � ��� ??? �

 x Bt  = x Bt− xB0 =
1
2
aB⋅t

2
=
1
2
⋅2a A⋅t

2

:� ?� `   � ???� �� � � � ���� �� � ��� � � ��� ??? �?? ??� ?�

 x Bt  = 2⋅ x At 

:� ? � `  � ?? ?� � �� ��� �� � � ��� � � ��� � �???

 x At  xB t =60m

:� ?� `  �???� � �������� � �� � �� �� � �� ?
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�ה ?� `  � ??? �� � �� � ���� � �

 x At 2⋅ x At =60m

:�???

 x At =20m

�???�ן �� �� � �� � � � �� �� � � � �� �� � � � �� � ��� ���� �� �� �� � �� � �� �� � � � �� � � � �� �� � �� �� � � ���� �� � � � � 

:�? � `  � ???� � � � � �� � � � � � � � � ��� �� � ???� ? ??? �? ��;??? � �

v At  = v A0aA⋅t = a A⋅t

v Bt  = v B0aB⋅t = aB⋅t = 2⋅aA⋅t

:� ?? � �� � �� � ��� � � �

v Bt  = 2⋅v At 

7.

?� .א � � �� � � �t=0sד� ?t=10sת�??  � � �� � �� �� � � ��� �� ��� �� � �� � �� � �� � � �� � � � �� � � 

.� ?� � ��� � �� � ��� �� �� � � �� � � � ����� � �� � �� � � �� �� ���

�ן ?� �� � � �t=10s � ?�t=20s � ???�� �� � �� � �� �� �� � � �� � � � �� � �v=15
m
s

�ן ?� �� � � �t=20s � ?�t=40sן�? ?  � ��� � � �� � � � ��� �� �� � �� � �� � �� � �� � � �� � � � �� � � 

�?�ע �� �� � � ��� � � � �� � � � �� �� � ��� � � � � �� ��� � � � �� �� � � � �� � ���� � �� � �� � �� � �� � � � �� ��� � � �� �� � � 

.� ?� � � �� ��� � � � � � �� �� � � �� � � ������ � �� � �� � � �� �� �� � � � �� �� � � ��� � � � � � � � �� �� �� � � �� � �� � �

 � ?� � � �t=40s � ?�t=50s � ???� � �� � �� � � � �� �� � � �� � �� �� � �v=−5
m
s

 �?� � � �� � � �� � � �t=50s �?�t=60s,� ???� � �� �� �� � � �� � �� �� � � ��� �� ��� �� � �� � �� � �� � � �� � � � �� � � 

.� ? � � � �� �� � �� �� � � �� � ���� � �� � �� � �� � �� � � �� � �� �

�:.ב ? � �� � �� � � � � � �� � �� � � � � �� � � �� � � �� � � � � ����� �

a =
 x
 t

a 0s10s  =
15−0
10−0

= 1.5
m

s2

a 10s 20s =
15−15
20−10

= 0
m

s2

�ך ?? ��� �� � �� ��� �� �� � � �� �� ��� �� �� �� � � ��� � � � � � � � � �� � � �� � � � �� � � � � �� � � � � �� � � �� �� 

.� ?� � � �� � �� � � � �� �� �� � � ����� � � �� �� � � � � � � �� � � � �� � � �� �� � � � � � �� � � �� � � � �� � �� � � �
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�ה ????? ��� �??�� ??��� � �

a 40s 50s =
−5−−5
50−40

= 0
m
s2

a 50s60s =
0−−5
60−50

= 0.5
m
s2

�?????� .ג � �� ??� � ??t=20s40sו� ???? ?� � � � ??�� ??��� � � �??� � ??�namoR  weN  s em 

�ר ?????� ���??� � ??� � �� � �?? � �??�n amoR  weN  semiT� ���� 1?? � ???��� �� �� � � � �� �� � � 

:� ?????� � �� ?

 
v1
 t1

=a20s 40s

:�??

 t 1=
 v1

a 20s 40s
=−

15
−1

= 15 s

:� ?????�� �� ??� � ?? �� � � � �? ?� �??� namoR  weN  semiT� � � �� 1 ??  �???� � ��� �

t = 20 s15 s=35 s

?????�ם � � �� ??� �??�� � �� �? ?�� ?? �namoR weN se mi T� �� �� 1??  � ???���� � � � �� � � � �� � � �� � � � ? 

)� ???? ?�� � �??� �??� �� � � � ??� � ??� namo

�ר.ד ?????�� � � ??��? ?�� � �� � ??�� ?? �namoR  weN  semi T� ���� 1 ?? � ?? ? �� � � � � �� � � � � �� � �� � � � 

:�???? ?�� � �??��?? � � � � � �??� �? ? �namoR  weN semi T ��� � � 1??  �? ??�� � � � ��� � ��
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�ה ?� � ?? ��� �??�� � ���?? �

x t=60s  =
3510
2

⋅15
2510
2

⋅−5 = 337.5−87.5= 250m

�:.ה ?�� ?? � �� �?? � � � �� � ?? �� ?? �1 � t� �� � � � ????� �� �??� � � �

337.587.5 = 425m

8.

� .א ?� �?? �� � �?? �� ��t=3s:� ?�

 x t=3s  = 1510⋅36⋅32= 99m

 � ?� �?? �� � �?? �� ��t=4s:� ?�

 x t=4s = 1510⋅46⋅42= 151m

:� ?� �? ?�� � � ??� � � � ��??

 x 3s 4s = 151m−99m = 52m

 � ?� �?? �� � �?? �� ��t=6s:� ?�

 x t=6s  = 1510⋅66⋅62 = 291m

 � ?� �?? �� � �?? �� ��t=7s:� ?�

 x t=7s  = 1510⋅76⋅72= 375m

:� ?� �? ?�� � � ??� � � � ��??

 x 6s 7s = 375m−291m= 84m

�ה.ב ?�� � �x=1510t6 t 2 �? � � ??� �� � ??�� �� � � ?? �x = x0v0⋅t
1
2
a⋅t 2

:� ?� �??� �� � ?? �� � � �� ??�� ??

x0 = 15m

v0 = 10
m
s

�ה.ג ?�� ?? � �� �??� �� � �� ??� � ??� 1 �t �

1
2
a=6

m

s2

a=12
m

s2
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�ה ????? ��� �??�� ??��� � �

�?????�ת.ד �� � ??� � ??� � �� � �??�� ??� n amoR  weN  semi T�� �� �1?    � ?p?� � �� � � � � � � � � � � 

�ב ????? �� � �??�� ? ? �� � �� �?? � �?? �namoR  weN semi T� � � �� 1?    �? p?��� �� �� � � �� �� � � � 

:� ?????� � �� ? ?� �??�

a =
v
 t

⇒  v=a t

 � ??? ??� �� �? ?� �??� � � � ��?? � t=1 s:� ?????� �� � ??�� ?

v = 12
m

s2
⋅1 s= 12

m
s
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